1.1 Bayer
CCD

ETFOEMNS
BFREHE

P mEORMD
FEERE

&2

ACPI

(CCD)

CCD

Bayer

(ACPI)

2

CCD

1



112

R3s Bsa
Ra3s = (Ra1 + Ra3)/2 1)
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114 (ACPI)
Advanced Color Plane Interpolation: ACPI

ACPI
Gs3
) G23~2FG43 + *R13+2f33*353 ifa<f
Gs3 = G32-§034 + —R31+2f33—R35 if a>f
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+ if a=
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B=|—Rs1+2- R3z3 — R3s| + |G3z — G34] (13)
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BQ4;B42 + 7G:24+2'4G:337G:42 Zf al < ﬂl
BA33 = B22~2FB44 + *G22+2'4G33*G44 Zf o > /3/

Bas+Baa+Bas+Bag —Goo—Gos+4-G33—Gup—Gaa -
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a1 B 1
o = | — Gag +2- G33 — Gyo| + | B2y — B (15)
ﬂ/:|—GA22+2'GA33—G:14|+|322—B44| (16)
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. By +B —Glas 4+ 2 Gaz — G-
Bys — 22 ; 2 22 + . 23 24
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タイプライタ
ACPI のプログラムは下記で公開中
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